



For new and up-to-date product information visit us at www.arrowinternational.com!

CAPTAIN CASH™

FORM XD25	¢1 00 per cerd			FORM XD27	¢1 00 par card
	\$1.00 per card 00\$3,079.00	FORM XD26 3,159 cards @ \$1.1	\$1.00 per card	3,159 cards @ \$1.	\$1.00 per card
PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 3 @ \$25.00 \$75.00 4 @ \$5.00 \$20.00 210 @ \$2.00 \$420.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 1 @\$180.00\$180.00 1 @\$154.00\$154.00 1 @\$154.00\$154.00 1 @\$105.00\$115.00 1 @\$104.00\$104.00 2 @\$102.00\$204.00 3 @\$50.00\$150.00	PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 4 @ \$50.00 \$200.00 10 @ \$5.00 \$50.00 320 @ \$1.00 \$320.00	MULTIPLE WINNERS 1 @\$255.00\$255.00 1 @\$202.00\$205.00 1 @\$202.00\$202.00 1 @\$155.00\$155.00 6 @\$104.00\$312.00 1 @\$103.00\$103.00 1 @\$55.00\$55.00 1 @\$52.00\$55.00	PAYS OUT 9 @ \$100.00 \$900.00 9 @ \$100.00 \$900.00 4 @ \$50.00 \$200.00 4 @ \$10.00 \$40.00 4 @ \$5.00 \$20.00 200 @ \$2.00 \$400.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 2 @\$150.00\$408.00 4 @\$104.00\$416.00 8 @\$100.00\$416.00 2 @\$50.00\$416.00 2 @\$50.00\$400.00 2 @\$20.00\$410.00 2 @\$50.00\$410.00 2 @\$50.00\$10.00 2 @\$50.00\$10.00 3 @\$4.00\$32.00
75.19% payback Win Ratio: 1 in 13.0 4 sets per case 17 POSTINGS	10 @ \$4.00\$40.00 177 @ \$2.00\$354.00	75.02% payback Win Ratio: 1 in 8.9 4 sets per case 18 POSTINGS	2 @ \$50.00\$100.00 5 @ \$4.00\$20.00 281 @ \$1.00\$281.00	77.87% payback Win Ratio: 1 in 13.7 4 sets per case 18 POSTINGS	172 @ \$2.00\$344.00
PAYS OUT IDEAL PROFIT	\$2,315.00 \$764.00	PAYS OUT IDEAL PROFIT	\$2,370.00 \$789.00	PAYS OUT IDEAL PROFIT	\$2,460.00 \$699.00
FORM XD28	\$1.00 per card	FORM XD29	\$1.00 per card	FORM XD30	\$1.00 per card
3,159 cards @ \$1.	00 \$3,159.00	3,159 cards @ \$1.	<u>00 \$3,159.00</u>	3,159 cards @ \$1.	00 \$3,159.00
PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 8 @ \$25.00 \$200.00 5 @ \$4.00 \$20.00 190 @ \$2.00 \$380.00	MULTIPLE WINNERS 3 @\$204.00\$612.00 1 @\$152.00\$152.00 1 @\$110.00\$110.00 1 @\$100.0\$104.00 2 @\$102.00\$204.00 7 @\$100.00\$700.00 1 @\$52.00\$52.00 2 @\$50.00\$100.00 1 @\$52.00\$100.00	PAYS OUT 8 @ \$100.00\$400.00 4 @ \$100.00\$400.00 4 @ \$100.00\$400.00 6 @ \$50.00\$300.00 6 @ \$50.00\$300.00 6 @ \$25.00\$150.00	MULTIPLE WINNERS 3 @\$300.00\$900.00 2 @\$150.00\$300.00 10 @\$100.00\$1000.00 3 @\$50.00\$150.00	PAYS OUT 8 @ \$100.00\$800.00 7 @ \$100.00\$700.00 5 @ \$50.00\$250.00 3 @ \$15.00\$45.00 10 @ \$5.00\$40.00 200 @ \$2.00\$400.00	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$150.00\$214.00 2 @\$105.00\$210.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$55.00\$65.00 8 @\$4.00\$32.00
75.97% payback Win Ratio: 1 in 14.2 4 sets per case 18 POSTINGS		74.39% payback Win Ratio: 1 in 92.9 4 sets per case 18 POSTINGS		71.07% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS	181 @ \$2.00\$362.00
PAYS OUT Ideal profit	\$2,400.00 \$759.00	PAYS OUT IDEAL PROFIT	\$2,350.00 \$809.00	PAYS OUT IDEAL PROFIT	\$2,245.00 \$914.00
FORM XD31 3,159 cards @ \$1.	\$1.00 per card 00 \$3,159.00	FORM XD32	\$2.00 per card	FORM XD33	\$1.00 per card
· · ·					0.0 0.0 45.0 0.0
PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 4 @ \$100.00 \$400.00 8 @ \$25.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00	2,599 cards @ \$2. PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% navhack	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$60.00\$60.00 1 @\$56.00\$56.00 3 @\$52.00\$156.00 5 @\$26.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$80.00	3,159 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$250.00 4 @\$12.00\$250.00 10 @\$5.00\$50.00 290 @\$1.00\$290.00 70.85% navhack	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$174.00\$150.00 1 @\$150.00\$150.00 1 @\$150.00\$105.00 1 @\$102.00\$105.00 1 @\$102.00\$105.00 1 @\$101.00\$101.00 6 @\$100.00\$500 1 @\$55.00 2 \$55.00
8 @\$100.00\$800.00 4 @\$100.00\$400.00 4 @\$100.00\$400.00 8 @\$50.00\$400.00 8 @\$50.00\$200.00	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @ \$50.00\$4400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$60.00\$60.00 1 @\$56.00\$156.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00	PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 5 @ \$50.00 \$250.00 4 @ \$12.00\$48.00 10 @ \$5.00\$50.00	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$174.00\$174.00 1 @\$150.00\$129.00 1 @\$129.00\$129.00 1 @\$102.00\$105.00 1 @\$102.00\$101.00 1 @\$102.00\$101.00 6 @\$100.00\$600.00 1 @\$55.00
8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$100.00 \$400.00 8 @ \$250.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$200.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT.	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$150.00 1 @\$560.00\$56.00 3 @\$52.00\$156.00 3 @\$52.00\$156.00 5 @\$550.00\$250.00 17 @\$26.00\$250.00 17 @\$26.00\$250.00 17 @\$26.00\$250.00 16 @\$12.00\$300.00 16 @\$12.00\$396.00 99 @\$4.00\$396.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$200.00 5 @ \$50.00\$250.00 4 @ \$12.00\$250.00 290 @ \$1.00\$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT	$\begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 & @ \$205.00 \dots \$410.00 \\ 1 & @ \$174.00 \dots \$174.00 \\ 1 & @ \$150.00 \dots \$150.00 \\ 1 & @ \$150.00 \dots \$129.00 \\ 1 & @ \$105.00 \dots \$105.00 \\ 1 & @ \$105.00 \dots \$102.00 \\ 1 & @ \$102.00 \dots \$102.00 \\ 1 & @ \$102.00 \dots \$101.00 \\ 6 & @ \$100.00 \dots \$101.00 \\ 6 & @ \$100.00 \dots \$500.00 \\ 1 & @ \$50.00 \dots \$55.00 \\ 1 & @ \$55.00 \dots \$55.00 \\ 1 & @ \$55.00 \dots \$55.00 \\ 1 & @ \$50.00 \dots \$50.00 \\ 1 & @ \$50.00 \end{matrix}$
8 @\$100.00\$800.00 4 @\$100.00\$400.00 8 @\$500.00\$400.00 8 @\$250.00\$200.00 8 @\$25.00\$200.00 8 @\$25.00\$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$2,400.00 \$759.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT	$\begin{array}{c} \begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 @ \$250.00 \$500.00 \\ 6 @ \$200.00 \$1200.00 \\ 1 @ \$150.00 \$150.00 \\ 7 @ \$100.00 \$700.00 \\ 1 @ \$60.00 \$60.00 \\ 1 @ $56.00 \$56.00 \\ 3 @ \$52.00 \$156.00 \\ 5 @ \$52.00 \$156.00 \\ 5 @ \$50.00 \$250.00 \\ 17 @ \$26.00 \$442.00 \\ 5 @ \$16.00 \$442.00 \\ 5 @ \$16.00 \$442.00 \\ 5 @ \$16.00 \$442.00 \\ 5 @ \$16.00 \$42.00 \\ 99 @ \$4.00 \$396.00 \\ 99 @ \$4.00 \$396.00 \\ \end{array}$	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @\$50.00\$250.00 4 @\$12.00\$250.00 290 @\$1.00\$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT	$\begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 @ \$205.00 \$410.00 \\ 1 @ \$174.00 \$174.00 \\ 1 @ \$150.00 \$150.00 \\ 1 @ \$150.00 \$105.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$101.00 \$101.00 \\ 6 @ \$100.00 \$50.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$50.00 \$50.00 \\ 1 @ \$50.00 \$50.00 \\ 1 @ \$50.00 \$50.00 \\ 1 @ \$50.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$50.00 \$50.00 \\ 1 @ $0.00 \$50.00 \\ 1 @ $0.00 \$50.00 \\ 1 @ $0.00 \$50 \\ 1 @ $0.00 $10.00 \\ 1 @ $0.00 \\ 1 @ $0.00 \\ 1 @ $0.00 \\ 1 @ 0.00
8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$100.00 \$400.00 8 @ \$250.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @ \$50.00\$200.00 \$2,400.00 \$759.00 \$1.00 per card	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT.	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$150.00 1 @\$150.00\$150.00 7 @\$100.00\$150.00 1 @\$50.00\$150.00 1 @\$50.00\$156.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$300.00 25 @\$12.00\$300.00 99 @\$44.00\$396.00 \$780.00 \$780.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$200.00 5 @ \$50.00\$250.00 4 @ \$12.00\$250.00 290 @ \$1.00\$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT	$\begin{array}{r} \begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 @ \$205.00 \$410.00 \\ 1 @ \$174.00 \$174.00 \\ 1 @ \$150.00 \$150.00 \\ 1 @ \$150.00 \$105.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$100.00 \$50.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$50 \$50.00 \\ 1 @ \$50 \$50.00 \\ 1 @ \$50 \$50.00 \\ 1 @ \$50 \$50.00 \\ 1 @ \$50 \$50 \\ 1 @ $50 \$50 \\$
8 @\$100.00\$800.00 4 @\$100.00\$400.00 8 @\$5100.00\$400.00 8 @\$25.00\$200.00 8 @\$25.00\$200.00 8 @\$25.00\$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT FORM XD34	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @ \$50.00\$200.00 \$2,400.00 \$759.00 \$1.00 per card	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT FORM XD35	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$150.00 1 @\$150.00\$150.00 7 @\$100.00\$150.00 1 @\$50.00\$150.00 1 @\$50.00\$156.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$300.00 25 @\$12.00\$300.00 99 @\$44.00\$396.00 \$780.00 \$780.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$250.00 4 @\$12.00\$250.00 290 @\$1.00\$250.00 290 @\$1.00\$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT FORM XD36	$\begin{array}{c} \begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 @ \$205.00 \$410.00 \\ 1 @ \$174.00 \$174.00 \\ 1 @ \$150.00 \$150.00 \\ 1 @ \$150.00 \$129.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$102.00 \\ 1 @ \$102.00 \$101.00 \\ 6 @ \$100.00 \$50.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$55.00 \$55.00 \\ 1 @ \$52.00 \$55.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$55.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$52.00 \$50.00 \\ 1 @ \$50.00 \$50 \\ 1 @ $50.00 \$50 \\ 1 @ $50.00 \$50 \\ 1 @ $50.00 \$50 \\ 100 per card \\ 1 @ $50.00 $50 \\ 1 \$50 \\ 1 1 1 1 1$
8 @\$100.00\$800.00 4 @\$100.00\$400.00 8 @\$5100.00\$400.00 8 @\$50.00\$200.00 8 @\$25.00\$200.00 8 @\$25.00\$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT FORM XD34 1,999 cards @\$1. PAYS OUT 4 @\$100.00\$400.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 \$1.00 per card 00\$1,999.00 MULTIPLE WINNERS 4 @\$200.00\$800.00 6 @\$100.00\$600.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @\$26.00\$702.00 111 @\$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT FORM XD35 3,200 cards @\$22. PAYS OUT 4 @\$400.00\$1600.00 4 @\$100.00\$200.00 8 @\$100.00\$200.00 8 @\$100.00\$200.00 8 @\$100.00\$250.00	$\begin{array}{c} \begin{array}{c} \text{MULTIPLE WINNERS} \\ 2 @ \$250.00 \$500.00 \\ 6 @ \$200.00 \$500.00 \\ 1 @ \$150.00 \$150.00 \\ 7 @ \$150.00 \$150.00 \\ 1 @ \$60.00 \$60.00 \\ 1 @ $60.00 \$56.00 \\ 3 @ \$52.00 \$156.00 \\ 3 @ \$52.00 \$156.00 \\ 5 @ \$50.00 \$250.00 \\ 17 @ $26.00 \$442.00 \\ 5 @ \$12.00 \$80.00 \\ 25 @ \$12.00 \$300.00 \\ 16 @ \$8.00 \$128.00 \\ 99 @ $4.00 \$396.00 \\ \hline \end{array}$	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @\$50.00\$250.00 4 @\$12.00\$250.00 290 @\$1.00\$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT FORM XD36 2,559 cards @\$1. PAYS OUT 8 @\$100.00\$800.00 4 @\$50.00\$200.00 6 @\$25.00\$150.00 4 @\$50.00\$200.00	$\begin{array}{c} \textbf{MULTIPLE WINNERS} \\ 2 @ $205.00 $410.00 \\ 1 @ $174.00 $174.00 \\ 1 @ $150.01 $150.00 \\ 1 @ $150.00 $150.00 \\ 1 @ $102.00 $102.00 \\ 1 @ $102.00 $102.00 \\ 1 @ $100.00 $101.00 \\ 6 @ $100.00 $500.00 \\ 1 @ $55.00 $55.00 \\ 1 @ $55.00 $55.00 \\ 1 @ $55.00 $55.00 \\ 1 @ $52.00 $52.00 \\ 1 @ $110.00 $11.00 \\ 1 @ $110.00 $10.00 \\ 1 @ $110.00 $28.00 \\ 255 @ $1.00 $28.00 \\ 255 @ $1.00 $28.00 \\ 255 @ $1.00 $25.00 \\ \hline \end{array}$



HIT ME[™]

FORM XD37	\$1.00 per card	FORM XD38	\$1.00 per card	FORM XD39	\$1.00 per card
3,079 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$200.00 4 @ \$50.00\$75.00 4 @ \$5.00\$20.00 210 @ \$2.00\$420.00	$\begin{array}{c} UU \dots, \$3, U79, UU\\ \hline MULTIPLE WINNERS\\ 2 & (@ $204.00 \dots, $408.00\\ 1 & (@ $180.00 \dots, $180.00\\ 1 & (@ $154.00 \dots, $184.00\\ 1 & (@ $115.00 \dots, $115.00\\ 1 & (@ $106.00 \dots, $106.00\\ 1 & (@ $106.00 \dots, $104.00\\ 2 & (@ $102.00 \dots, $204.00\\ 5 & (@ $100.00 \dots, $204.00\\ 5 & (@ $100.00 \dots, $500.00\\ 3 & (@ $50.00 \dots, $150.00\\ 10 & (@ $4.00 \dots, $40.00\\ \end{array}$	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 10 @ \$50.00 \$200.00 320 @ \$1.00 \$320.00	MULTIPLE WINNERS 1 @\$255.00\$255.00 1 @\$202.00\$205.00 1 @\$105.00\$155.00 6 @\$105.00\$630.00 3 @\$104.00\$312.00 1 @\$103.00\$103.00 1 @\$55.00\$55.00 1 @\$52.00\$52.00	3,159 cards @ \$1. PAYS OUT 9 @ \$100.00 \$900.00 9 @ \$100.00 \$900.00 4 @ \$50.00 \$200.00 4 @ \$10.00\$40.00 4 @ \$5.00\$20.00 200 @ \$2.00\$400.00	JU \$3,159.00 MULTIPLE WINNERS 2 2 @\$204.00\$408.00 2 @\$150.00\$300.00 4 @\$100.00\$416.00 8 @\$100.00\$416.00 2 @\$204.00\$416.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$20.00\$100.00 2 @\$20.00\$100.00 2 @\$20.00\$100.00 2 @\$20.00\$100.00 2 @\$20.00\$100.00 3 @\$10.00 4 @\$100.00\$100.00 2 @\$20.00\$100.00 2 @\$100.00\$100.00 2 @\$100.00\$100.00 2 @\$100.00\$100.00 3 @\$100.00\$100.00 2 @\$100.00\$100.00 3 @\$100.00\$100.00 2 @\$100.00\$100.00 3 @\$100.00\$100.00 3 @\$100.00\$100.00 3 @\$100.00\$100.00 3 @\$1000.00\$100.00
75.19% payback Win Ratio: 1 in 13.0 4 sets per case 17 POSTINGS PAYS OUT	177 @ \$2.00\$354.00	75.02% payback Win Ratio: 1 in 8.9 4 sets per case 18 POSTINGS PAYS OUT	5 @ \$4.00\$20.00 281 @ \$1.00\$281.00	77.87% payback Win Ratio: 1 in 13.7 4 sets per case 18 POSTINGS PAYS OUT	\$2.460.00
IDEAL PROFIT		IDEAL PROFIT		IDEAL PROFIT	
FORM XD40 3,159 cards @ \$1.0 PAYS OUT	\$1.00 per card 00 \$3,159.00 MULTIPLE WINNERS	FORM XD41 3,159 cards @ \$1. PAYS OUT	\$1.00 per card 00 \$3,159.00 MULTIPLE WINNERS	FORM XD42 3,159 cards @ \$1. PAYS OUT	\$1.00 per card 00 \$3,159.00 MULTIPLE WINNERS
8 @\$100.00\$800.00 8 @\$100.00\$800.00 4 @\$50.00\$200.00 8 @\$25.00\$200.00 5 @\$4.00\$20.00 190 @\$2.00\$380.00	$\begin{array}{c} 3 @ \$204.00 \dots \$612.00 \\ 1 @ \$152.00 \dots \$152.00 \\ 1 @ \$10.00 \dots \$110.00 \\ 1 @ \$104.00 \dots \$104.00 \\ 2 @ \$102.00 \dots \$204.00 \\ 7 @ \$100.00 \dots \$700.00 \\ 1 @ \$52.00 \dots \$700.00 \\ 1 @ \$52.00 \dots \$700.00 \\ 1 @ \$50.00 \dots \$100.00 \\ 183 @ \$2.00 \dots \$366.00 \\ \end{array}$	8 @\$100.00\$800.00 4 @\$100.00\$400.00 4 @\$100.00\$400.00 6 @\$50.00\$300.00 6 @\$50.00\$300.00 6 @\$25.00\$150.00	3 @\$300.00 \$900.00 2 @\$150.00 \$300.00 10 @\$100.00\$1000.00 3 @\$50.00 \$150.00	8 @ \$100.00 \$800.00 7 @ \$100.00 \$700.00 5 @ \$50.00 \$250.00 3 @ \$15.00 \$45.00 10 @ \$5.00 \$50.00 200 @ \$2.00 \$400.00	2 @\$205.00\$410.00 1 @\$152.00\$152.00 2 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$100.00\$600.00 1 @\$65.00\$65.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00
75.97% payback Win Ratio: 1 in 14.2 4 sets per case 18 POSTINGS		74.39% payback Win Ratio: 1 in 92.9 4 sets per case 18 POSTINGS		71.07% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS	181 @ \$2.00\$362.00
PAYS OUT IDEAL PROFIT	\$2,400.00 \$759.00	PAYS OUT IDEAL PROFIT	\$2,350.00 \$809.00	PAYS OUT IDEAL PROFIT	\$2,245.00 \$914.00
FORM XD43 3,159 cards @ \$1.0	\$1.00 per card 00 \$3,159.00	FORM XD44 2,599 cards @ \$2.	\$2.00 per card 00 \$5,198.00	FORM XD45 3,159 cards @ \$1.	\$1.00 per card 00 \$3,159.00
PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @ \$26.00\$400.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$560.00\$56.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 5 @\$26.00\$442.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @\$50.00\$250.00 4 @\$12.00\$48.00 10 @\$5.00\$50.00 290 @\$1.00\$290.00	MULTIPLE WINNERS 2 @\$202.00\$404.00 1 @\$174.00\$174.00 1 @\$150.00\$129.00 1 @\$129.00\$129.00 1 @\$105.00\$105.00 8 @\$100.00\$800.00 1 @\$55.00\$55.00 1 @\$50.00\$51.00 1 @
75.97% payback Win Ratio: 1 in 79.0 4 sets per case		84.99% payback Win Ratio: 1 in 9.3 4 sets per case	5 @ \$16.00\$80.00 25 @ \$12.00\$300.00 16 @ \$8.00\$128.00 99 @ \$4.00\$396.00	70.85% payback Win Ratio: 1 in 9.7 4 sets per case	1 @ \$20.00\$20.00 1 @ \$11.00\$11.00 1 @ \$6.00\$6.00 14 @ \$2.00\$28.00 255 @ \$1.00\$255.00
20 POSTINGS		51 POSTINGS		17 POSTINGS	
PAYS OUT IDEAL PROFIT	\$2,400.00 \$759.00	PAYS OUT IDEAL PROFIT	\$4,418.00 \$780.00	PAYS OUT IDEAL PROFIT	\$2,238.00 \$921.00
FORM XD46	\$1.00 per card	FORM XD47	\$2.00 per card	FORM XD48	\$1.00 per card
$\begin{array}{c} \textbf{1,999 cards @ \$1.}\\ \hline \textbf{PAYS OUT}\\ 4 @ \$100.00 $400.00\\ 4 @ $100.00 $400.00\\ 4 @ $50.00 $200.00\\ 4 @ $50.00 $200.00\\ 6 @ $25.00 $150.00\\ 6 @ $25.00 $150.00\\ \end{array}$	00\$1,999.00 MULTIPLE WINNERS 4 @\$200.00\$800.00 6 @\$100.00\$600.00 2 @\$50.00\$100.00	3,200 cards @ \$2. PAYS OUT 4 @\$400.00\$1600.00 4 @\$300.00\$1200.00 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @ \$50.00\$250.00 6 @ \$25.00\$150.00	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	2,559 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$200.00 4 @\$50.00\$200.00 6 @\$25.00\$150.00 4 @\$5.00\$20.00 220 @\$2.00\$440.00	MULTIPLE WINNERS 3 @\$152.00\$456.00 1 @\$105.00\$105.00 5 @\$104.00\$520.00 1 @\$102.00\$520.00 1 @\$102.00\$520.00 3 @\$102.00\$520.00 1 @\$50.00\$54.00 1 @\$50.00\$550.00 3 @\$50.00\$15.00 4 @\$4.00\$16.00
75.04% payback Win Ratio: 1 in 71.4 6 sets per case 12 POSTINGS		75% payback Win Ratio: 1 in 91.4 4 sets per case 22 POSTINGS		78.55% payback Win Ratio: 1 in 10.4 4 sets per case 15 POSTINGS	196 @ \$2.00\$392.00
PAYS OUT IDEAL PROFIT	\$1,500.00 \$499.00	PAYS OUT IDEAL PROFIT	\$4,800.00 \$1,600.00	PAYS OUT IDEAL PROFIT	\$2,010.00 \$549.00



For new and up-to-date product information visit us at www.arrowinternational.com!

9 IRON™

FORM XD49	\$1.00 per card	FORM XD50	\$1.00 per card	FORM XD51	\$1.00 per card		
$\begin{array}{c} \textbf{3,079 cards @ \$1.} \\ \textbf{PAYS OUT} \\ \textbf{8} @ \$100.00 \$800.00 \\ \textbf{8} @ \$100.00 \$800.00 \\ \textbf{4} @ \$50.00 \$200.00 \\ \textbf{3} @ \$25.00 \$75.00 \\ \textbf{4} @ \$5.00 \$20.00 \\ \textbf{210} @ \$2.00 \$420.00 \\ \textbf{210} @ \$2.00 \$420.00 \\ \textbf{300} = \$2.00 \\ \textbf{300}$	$\begin{array}{c c}$3,079.00\\ \hline MULTIPLE WINNERS\\ 2 @ $204.00$408.00\\ 1 @ $180.00$180.00\\ 1 @ $154.00$154.00\\ 1 @ $155.00$115.00\\ 1 @ $115.00$115.00\\ 1 @ $106.00$104.00\\ 2 @ $102.00$204.00\\ 5 @ $100.00$500.00\\ \end{array}$	3,159 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 4 @ \$50.00\$200.00 4 @ \$50.00\$200.00 10 @ \$5.00\$50.00 320 @ \$1.00\$320.00	MULTIPLE WINNERS 1 @\$255.00\$255.00 1 @\$205.00\$205.00 1 @\$202.00\$202.00 1 @\$155.00\$155.00 6 @\$105.00\$312.00 3 @\$104.00\$103.00 1 @\$103.00\$103.00 1 @\$55.00\$55.00	3,159 cards @ \$1. PAYS OUT 9 @ \$100.00 \$900.00 9 @ \$100.00 \$900.00 4 @ \$50.00 \$200.00 4 @ \$10.00\$40.00 4 @ \$5.00\$20.00 200 @ \$2.00 \$400.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 2 @\$150.00\$408.00 4 @\$104.00\$416.00 8 @\$100.00\$416.00 2 @\$50.00\$100.00 2 @\$20.00\$40.00 1 @\$10.00\$10.00 2 @\$5.00.0\$10.00		
75.19% payback Win Ratio: 1 in 13.0 4 sets per case 17 POSTINGS	3 @ \$50.00\$150.00 10 @ \$4.00\$40.00 177 @ \$2.00\$354.00	75.02% payback Win Ratio: 1 in 8.9 4 sets per case 18 POSTINGS	1 @ \$52.00\$52.00 2 @ \$50.00\$100.00 5 @ \$4.00\$20.00 281 @ \$1.00\$281.00	77.87% payback Win Ratio: 1 in 13.7 4 sets per case 18 POSTINGS	8 @ \$4.00\$32.00 172 @ \$2.00\$344.00		
PAYS OUT	\$2,315.00 \$764.00	PAYS OUT IDEAL PROFIT	\$2,370.00 \$789.00	PAYS OUT IDEAL PROFIT	\$2,460.00		
				FORM XD54			
FORM XD52 3,159 cards @ \$1.	\$1.00 per card 00 \$3,159.00	FORM XD53 3,159 cards @ \$1.1	\$1.00 per card	3,159 cards @ \$1.	\$1.00 per card 00 \$3,159.00		
PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$200.00 4 @\$50.00\$200.00 8 @\$25.00\$200.00 5 @\$4.00\$20.00 190 @\$2.00\$380.00	MULTIPLE WINNERS 3 @\$204.00\$612.00 1 @\$152.00\$152.00 1 @\$104.00\$104.00 2 @\$102.00\$204.00 7 @\$100.00\$204.00 7 @\$100.00\$200.00 1 @\$52.00\$52.00 2 @\$50.00\$100.00 183 @\$2.00\$366.00	PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$400.00 4 @\$100.00\$400.00 6 @\$50.00\$300.00 6 @\$50.00\$300.00 6 @\$25.00\$150.00	MULTIPLE WINNERS 3 @\$300.00\$900.00 2 @\$150.00\$300.00 10 @\$100.00\$1000.00 3 @\$50.00\$150.00	PAYS OUT 8 @\$100.00\$800.00 7 @\$100.00\$700.00 5 @ \$50.00\$250.00 3 @ \$15.00\$45.00 10 @ \$5.00\$40.00 200 @ \$2.00\$400.00	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$65.00\$600.00 1 @\$50.00\$50.00 8 @ \$4.00\$32.00		
75.97% payback Win Ratio: 1 in 14.2 4 sets per case 18 POSTINGS		74.39% payback Win Ratio: 1 in 92.9 4 sets per case 18 POSTINGS		71.07% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS	181 @ \$2.00\$362.00		
PAYS OUT IDEAL PROFIT	\$2,400.00 \$759.00	PAYS OUT IDEAL PROFIT	\$2,350.00 \$809.00	PAYS OUT IDEAL PROFIT	\$2,245.00 \$914.00		
FORM XD55 3,159 cards @ \$1.	\$1.00 per card 00 \$3,159.00	FORM XD56 2,599 cards @ \$2.	\$2.00 per card .00\$5,198.00	FORM XD57 3,159 cards @ \$1.	\$1.00 per card		
PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00	MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @ \$50.00\$200.00	PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @\$26.00\$702.00 111 @\$4.00\$444.00 118 @\$4.00\$472.00	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$60.00\$60.00 1 @\$56.00\$56.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00	PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 5 @ \$50.00 \$250.00 4 @ \$12.00 \$48.00 10 @ \$5.00 \$50.00 290 @ \$1.00 \$290.00	MULTIPLE WINNERS 2 @ \$200.00 \$400.00 1 @ \$174.00 \$174.00 1 @ \$174.00 \$150.00 1 @ \$129.00 \$129.00 1 @ \$105.00 \$129.00 1 @ \$102.00 \$105.00 1 @ \$102.00 \$102.00 1 @ \$101.00 1 @ \$102.00 \$102.00 1 @ \$101.00 1 @ \$101.00 \$102.00 1 @ \$101.00 \$102.00		
75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS		84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS	17 @ \$26.00\$442.00 5 @ \$16.00\$80.00 25 @ \$12.00\$300.00 16 @ \$8.00\$128.00 99 @ \$4.00\$396.00	70.85% payback Win Ratio: 1 in 9.7 4 sets per case	1 @ \$55.00\$55.00 1 @ \$52.00\$52.00 1 @ \$20.00\$52.00 1 @ \$20.00\$20.00 1 @ \$11.00\$11.00 1 @ \$6.00\$6.00 14 @ \$2.00\$28.00 255 @ \$1.00\$255.00		
PAYS OUT	\$2,400.00	PAYS OUT	\$4,418.00	PAYS OUT	\$2,238.00		
IDEAL PROFIT	\$759.00	IDEAL PROFIT	\$780.00	IDEAL PROFIT	\$921.00		
FORM XD58	\$1.00 per card	FORM XD59	\$2.00 per card	FORM XD60	\$1.00 per card		
1,999 cards @ \$1. PAYS OUT 4 @\$100.00\$400.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 6 @\$25.00\$150.00 6 @\$25.00\$150.00	.00 \$1,999.00 MULTIPLE WINNERS 4 @\$200.00 \$800.00 6 @\$100.00 \$600.00 2 @ \$50.00 \$100.00	3,200 cards @ \$2. PAYS OUT 4 @\$400.00\$1600.00 4 @\$300.00\$1200.00 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @ \$50.00\$250.00 6 @ \$25.00\$150.00	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	2,559 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$200.00 4 @ \$50.00\$200.00 6 @ \$25.00\$150.00 4 @ \$5.00\$20.00 220 @ \$2.00\$440.00	$\begin{array}{c} 00 \dots \$2,559.00 \\ \hline \\ MULTIPLE WINNERS \\ 3 @ \$155.00 \dots \$465.00 \\ 1 @ \$105.00 \dots \$105.00 \\ 6 @ \$102.00 \dots \$612.00 \\ 3 @ \$100.00 \dots \$300.00 \\ 1 @ \$54.00 \dots \$54.00 \\ 1 @ \$54.00 \dots \$54.00 \\ 4 @ \$4.00 \dots \$50.00 \\ 4 @ \$2.00 \dots \$408.00 \\ \end{array}$		
75.04% payback Win Ratio: 1 in 71.4 6 sets per case 12 POSTINGS PAYS OUT		75% payback Win Ratio: 1 in 91.4 4 sets per case 22 POSTINGS PAYS OUT	\$4,800.00	78.55% payback Win Ratio: 1 in 10.4 4 sets per case 15 POSTINGS PAYS OUT	\$2.010.00		



For new and up-to-date product information visit us at www.arrowinternational.com!

BRACE YOURSELF™

FORM XD61		FORM XD62	\$1.00 per card	FORM XD63	\$1.00 per card
3,079 cards @ \$1.	00\$3,079.00	3,159 cards @ \$1.		3,159 cards @ \$1.	
PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 3 @ \$25.00 \$75.00 4 @ \$5.00 \$20.00 210 @ \$2.00 \$420.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 1 @\$154.00\$180.00 1 @\$154.00\$154.00 1 @\$115.00\$154.00 1 @\$106.00\$106.00 1 @\$104.00\$104.00 2 @\$102.00\$204.00 5 @\$100.00\$500.00 3 @\$50.00\$50.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 10 @\$5.00\$50.00 320 @\$1.00\$320.00	MULTIPLE WINNERS 1 @\$255.00\$255.00 1 @\$205.00\$205.00 1 @\$202.00\$155.00 1 @\$155.00\$155.00 6 @\$105.00\$630.00 3 @\$104.00\$312.00 1 @\$103.00\$103.00 1 @\$55.00\$55.00 1 @\$52.00\$52.00	PAYS OUT 9 @ \$100.00\$900.00 9 @ \$100.00\$900.00 4 @ \$50.00\$200.00 4 @ \$10.00\$40.00 4 @ \$5.00\$20.00 200 @ \$2.00\$400.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 2 @\$150.00\$300.00 4 @\$104.00\$416.00 8 @\$100.00\$416.00 2 @\$100.00\$416.00 2 @\$20.00\$410.00 2 @\$20.00\$100.00 2 @\$20.00\$10.00 2 @\$50.00\$10.00 3 @\$10.00\$10.00 4 @\$4.00\$32.00
75.19% payback Win Ratio: 1 in 13.0 4 sets per case 17 POSTINGS	10 @ \$4.00\$40.00 177 @ \$2.00\$354.00	75.02% payback Win Ratio: 1 in 8.9 4 sets per case 18 POSTINGS	2 @ \$50.00\$100.00 5 @ \$4.00\$20.00 281 @ \$1.00\$281.00	77.87% payback Win Ratio: 1 in 13.7 4 sets per case 18 POSTINGS	8 @ \$4.00\$32.00 172 @ \$2.00\$344.00
PAYS OUT Ideal profit	\$2,315.00 \$764.00	PAYS OUT IDEAL PROFIT	\$2,370.00 \$789.00	PAYS OUT Ideal profit	\$2,460.00 \$699.00
FORM XD64	\$1.00 per card	FORM XD65	\$1.00 per card	FORM XD66	\$1.00 per card
3,159 cards @ \$1.	00 \$3,159.00	3,159 cards @ \$1.	00 \$3,159.00		00 \$3,159.00
PAYS OUT 8 @ \$100.00 \$800.00 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 8 @ \$25.00 \$200.00 5 @ \$4.00 \$20.00 190 @ \$2.00 \$380.00	MULTIPLE WINNERS 3 @\$204.00\$612.00 1 @\$152.00\$152.00 1 @\$110.00\$110.00 1 @\$104.00\$104.00 2 @\$102.00\$204.00 7 @\$100.00\$700.00 1 @\$52.00\$52.00 2 @\$50.00\$100.00 183 @\$2.00\$366.00	PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$400.00 4 @\$100.00\$400.00 6 @\$50.00\$300.00 6 @\$50.00\$300.00 6 @\$25.00\$150.00	MULTIPLE WINNERS 3 @\$300.00\$900.00 2 @\$150.00\$300.00 10 @\$100.00\$1000.00 3 @\$50.00\$150.00	PAYS OUT 8 @\$100.00\$800.00 7 @\$100.00\$700.00 5 @\$50.00\$250.00 3 @\$15.00\$45.00 10 @\$5.00\$40.00 200 @\$2.00\$400.00	MULTIPLE WINNERS 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$150.00\$150.00 2 @\$107.00\$214.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$55.00\$65.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00
75.97% payback Win Ratio: 1 in 14.2 4 sets per case		74.39% payback Win Ratio: 1 in 92.9 4 sets per case		71.07% payback Win Ratio: 1 in 13.6 4 sets per case	181 @ \$2.00\$362.00
18 POSTINGS		18 POSTINGS		16 POSTINGS	
		PAYS OUT IDEAL PROFIT		PAYS OUT IDEAL PROFIT	\$914.00
FORM XD67	\$1.00 per card	FORM XD68	\$2.00 per card	FORM XD69 3,159 cards @ \$1.1	\$1.00 per card
PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00	00\$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @ \$50.00\$200.00	2,599 cards @ \$2. PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @\$26.00\$702.00 111 @\$4.00\$444.00 118 @\$4.00\$472.00	MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$2200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$1200.00 1 @\$56.00\$56.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 17 @\$26.00\$250.00 5 @\$16.00\$250.00	PAYS OUT 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @\$50.00\$250.00 4 @\$12.00\$48.00 10 @\$5.00\$50.00 290 @\$1.00\$290.00	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
75.97% payback Win Ratio: 1 in 79.0 4 sets per case		84.99% payback Win Ratio: 1 in 9.3 4 sets per case	25 @ \$12.00\$300.00 16 @ \$8.00\$128.00 99 @ \$4.00\$396.00	70.85% payback Win Ratio: 1 in 9.7 4 sets per case	1 @ \$11.00\$11.00 1 @ \$6.00\$6.00 14 @ \$2.00\$28.00 255 @ \$1.00\$255.00
20 POSTINGS		51 POSTINGS		17 POSTINGS	
PAYS OUT IDEAL PROFIT	\$2,400.00 \$759.00	PAYS OUT IDEAL PROFIT	\$4,418.00 \$780.00	PAYS OUT IDEAL PROFIT	\$2,238.00 \$921.00
FORM XD70	\$1.00 per card	FORM XD71	\$2.00 per card	FORM XD72	\$1.00 per card
1,999 cards @ \$1.	00 \$1,999.00 MULTIPLE WINNERS	3,200 cards @ \$2.	.00\$6,400.00 MULTIPLE WINNERS	2,559 cards @ \$1. PAYS OUT	00\$2,559.00 MULTIPLE WINNERS
4 @\$100.00\$400.00 4 @\$100.00\$2400.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 6 @\$25.00\$150.00 6 @\$25.00\$150.00	4 @\$200.00\$800.00 6 @\$100.00\$600.00 2 @ \$50.00\$100.00	PAYS OUT 4 @\$400.00\$1600.00 4 @\$300.00\$200.00 8 @\$100.00\$800.00 8 @\$100.00\$800.00 5 @\$50.00\$250.00 6 @\$25.00\$150.00	4 @\$500.00\$2000.00 2 @\$400.00\$800.00 2 @\$300.00\$600.00 2 @\$200.00\$400.00 8 @\$100.00\$800.00 4 @\$50.00\$200.00	8 @\$100.00\$800.00 4 @\$100.00\$200.00 6 @\$50.00\$200.00 6 @\$25.00\$150.00 4 @\$5.00\$20.00 220 @\$2.00\$440.00	3 @ \$150.00 \$450.00 1 @ \$105.00 \$105.00 6 @ \$102.00 \$105.00 3 @ \$100.00 \$300.00 1 @ \$54.00 \$54.00 1 @ \$50.00 \$55.00 3 @ \$5.00 \$15.00 4 @ \$4.00 \$16.00 204 @ \$2.00 \$408.00
75.04% payback Win Ratio: 1 in 71.4 6 sets per case 12 POSTINGS		75% payback Win Ratio: 1 in 91.4 4 sets per case 22 POSTINGS		78.55% payback Win Ratio: 1 in 10.4 4 sets per case 15 POSTINGS	
PAYS OUT	\$1,500.00 \$499.00	PAYS OUT IDEAL PROFIT	\$4,800.00 \$1,600.00	PAYS OUT	\$2,010.00 \$549.00





The laws that determine the legality of this product change constantly. It is the responsibility of the buyer to determine which products are legal in any given area. Payouts with either a ticket count exceeding 4,000 or a prize payout less than 65% are not available for sale in Pennsylvania or Louisiana. Mississippi max count is 6,000 tickets. Single prize payout maximum is \$500 in LA, \$1000 in MS/VA and \$2,000 in PA.

MERLOT MONEY™

EORM YD73 \$1.00 per card EORM YD74 \$1.00 per card EORM YD75 \$1.00 per card					
FORM XD73	\$1.00 per card .00 \$3,079.00	FORM XD74	\$1.00 per card 00 \$3,159.00	FORM XD75 3,159 cards @ \$1.	\$1.00 per card
PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 3 @ \$25.00 \$75.00 4 @ \$5.00 \$75.00 210 @ \$2.00 \$420.00 75.19% payback	MULTIPLE WINNERS 2 @\$204.00\$408.00 1 @\$180.00\$180.00 1 @\$154.00 1 @\$154.00 1 @\$115.00 1 @\$105.00\$106.00 1 @\$104.00\$104.00 2 @\$104.00\$104.00 3 @\$102.00\$204.00 5 @\$100.00\$500.00 3 @\$500.00\$150.00 10 @\$4.00\$40.00	PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 4 @ \$50.00 \$200.00 10 @ \$5.00 \$50.00 320 @ \$1.00 \$320.00 75.02% payback	MULTIPLE WINNERS 1 @\$255.00\$255.00 1 @\$205.00\$205.00 1 @\$202.00 1 @\$155.00\$155.00 6 @\$105.00\$155.00 3 @\$104.00\$312.00 1 @\$55.00\$103.00 1 @\$55.00\$55.00 1 @\$52.00\$52.00 2 @\$50.00\$100.00	PAYS OUT 9 @ \$100.00 \$900.00 9 @ \$100.00 \$900.00 4 @ \$50.00 \$200.00 4 @ \$10.00\$40.00 4 @ \$5.00\$20.00 200 @ \$2.00\$400.00	MULTIPLE WINNERS 2 @\$204.00\$408.00 2 @\$150.00\$300.00 4 @\$100.00\$100.00 8 @\$100.00\$800.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$100.00 2 @\$50.00\$10.00 2 @\$50.00\$10.00 1 @\$10.00\$10.00 2 @\$52.00\$32.00 172 @\$2.00\$344.00
Win Ratio: 1 in 13.0 4 sets per case 17 POSTINGS PAYS OUT	177 @ \$2.00\$354.00	Win Ratio: 1 in 8.9 4 sets per case 18 POSTINGS PAYS OUT	5 @ \$4.00\$20.00 281 @ \$1.00\$281.00	Win Ratio: 1 in 13.7 4 sets per case 18 POSTINGS	\$2,460.00
IDEAL PROFIT	\$764.00	IDEAL PROFIT		IDEAL PROFIT	\$2,460.00 \$699.00
FORM XD76	\$1.00 per card	FORM XD77	\$1.00 per card	FORM XD78	\$1.00 per card
3,159 Cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$200.00 8 @\$25.00\$200.00 5 @ \$4.00\$20.00 190 @ \$2.00\$380.00 75.97% payback	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$400.00 4 @\$100.00\$400.00 6 @\$50.00\$300.00 6 @\$50.00\$300.00 6 @\$25.00\$150.00	00 \$3,159.00 MULTIPLE WINNERS 3 @\$300.00 \$900.00 2 @\$150.00 \$300.00 10 @\$100.00\$1000.00 3 @\$50.00 \$150.00	3,159 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 7 @\$100.00\$250.00 5 @ \$50.00\$250.00 3 @ \$15.00\$45.00 10 @ \$5.00\$400.00 200 @ \$2.00\$400.00	JU \$3,159.00 MULTIPLE WINNERS 2 2 @\$205.00\$410.00 1 @\$152.00\$152.00 1 @\$152.00\$152.00 2 @\$152.00\$152.00 2 @\$105.00\$152.00 2 @\$105.00\$152.00 2 @\$105.00\$152.00 2 @\$105.00\$210.00 6 @\$100.00\$600.00 1 @\$50.00\$50.00 1 @\$50.00\$50.00 8 @\$4.00\$32.00 8 @\$2.00\$362.00
Vin Ratio: 1 in 14.2 4 sets per case 18 POSTINGS PAYS OUT	\$2,400.00	74.39% payback Win Ratio: 1 in 92.9 4 sets per case 18 POSTINGS PAYS OUT	\$2,350.00	71.07% payback Win Ratio: 1 in 13.6 4 sets per case 16 POSTINGS PAYS OUT	
IDEAL PROFIT	\$759.00	IDEAL PROFIT	\$2,350.00	IDEAL PROFIT	\$914.00
FORM XD79	* * * * *				
	\$1.00 per card	FORM XD80	\$2.00 per card	FORM XD81	\$1.00 per card
3,159 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 4 @\$100.00\$400.00 8 @\$50.00\$400.00 8 @\$55.00\$200.00 8 @\$25.00\$200.00 8 @\$25.00\$200.00 75.97% payback	\$1.00 per card 00 \$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @ \$50.00\$200.00	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback	$\begin{array}{c} \textbf{.00} \dots \textbf{\$5,198.00} \\ \hline \textbf{MULTIPLE WINNERS} \\ 2 & @\$250.00 \dots \$500.00 \\ 6 & @\$200.00 \dots \$1200.00 \\ 1 & @\$150.00 \dots \$150.00 \\ 7 & @\$100.00 \dots \$700.00 \\ 1 & @\$50.00 \dots \$700.00 \\ 1 & @\$56.00 \dots \$56.00 \\ 3 & @\$52.00 \dots \$56.00 \\ 3 & @\$52.00 \dots \$156.00 \\ 5 & @\$50.00 \dots \$250.00 \\ 17 & @\$26.00 \dots \$442.00 \\ 5 & @\$16.00 \dots \$442.00 \\ 5 & @\$16.00 \dots \$40.00 \\ 25 & @\$16.00 \dots \$40.00 \\ 25 & @\$12.80 \\ 16 & &\$8.00 \\ \$12.80 \\ \end{array}$	3,159 cards @ \$1. PAYS OUT 8 @\$100.00\$800.00 5 @\$50.00\$250.00 4 @\$12.00\$48.00 10 @ \$5.00\$290.00 290 @\$1.00\$290.00 70.85% payback	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT	00 \$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$200.00	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00	.00\$5,198.00 MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00.\$1200.00 1 @\$150.00\$150.00 7 @\$150.00\$150.00 1 @\$560.00\$56.00 3 @\$52.00\$156.00 3 @\$52.00\$156.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$80.00 16 @\$\$12.00\$300.00 16 @\$\$12.00\$396.00 99 @\$4.00\$396.00	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 9 @ \$100.00 \$250.00 4 @ \$12.00 \$250.00 290 @ \$1.00 \$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT.	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT	00 \$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$200.00 \$2,400.00 \$759.00	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT	$\begin{array}{c} 00. \\ $5,198.00\\ \hline $MULTIPLE WINNERS\\ 2 & @$250.00$500.00\\ 6 & @$200.00$1200.00\\ 1 & @$150.00$150.00\\ 7 & @$100.00$700.00\\ 1 & @$60.00$60.00\\ 1 & @$56.00$56.00\\ 3 & @$52.00$156.00\\ 5 & @$52.00$156.00\\ 5 & @$52.00$442.00\\ 5 & @$16.00$80.00\\ 25 & @$16.00$842.00\\ 25 & @$12.00$300.00\\ 25 & @$$12.00$390.00\\ 26 & @$14.00$396.00\\ 99 & @$4.00$396.00\\ \hline \end{array}$	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 5 @ \$50.00 \$250.00 4 @ \$12.00 \$250.00 290 @ \$1.00 \$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT	$\begin{array}{c} 00 \dots \$3,159.00 \\ \hline \text{MULTIPLE WINNERS} \\ 2 @ \$200.00 \dots \$400.00 \\ 1 @ \$174.00 \dots \$174.00 \\ 1 @ \$150.00 \dots \$150.00 \\ 1 @ \$150.00 \dots \$105.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$102.00 \dots \$101.00 \\ 6 @ \$100.00 \dots \$101.00 \\ 6 @ \$100.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$50.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ $22.00 \dots \$50.00 \\ 1 @ $20.00 \dots \$50 \\ 1 @ $20.00 \dots \$50$
3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT FORM XD82	00 \$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$200.00 \$50.00\$759.00 \$1.00 per card	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT FORM XD83	\$5,198.00 MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$560.00\$56.00 3 @\$52.00\$156.00 5 @\$56.00\$56.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$80.00 25 @\$12.00\$300.00 16 @\$8.00\$128.00 99 @\$4.00\$396.00 \$4.00\$780.00 \$2.00 per card	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 5 @ \$50.00 \$250.00 4 @ \$12.00 \$250.00 290 @ \$1.00 \$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT FORM XD84	$\begin{array}{c} 00 \dots \$3,159.00 \\ \hline \text{MULTIPLE WINNERS} \\ 2 @ \$200.00 \dots \$400.00 \\ 1 @ \$174.00 \dots \$174.00 \\ 1 @ \$150.00 \dots \$105.00 \\ 1 @ \$150.00 \dots \$105.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$101.00 \dots \$101.00 \\ 6 @ \$100.00 \dots \$010.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$50.00 \dots \$22.00 \\ 1 @ \$11.00 \dots \$250.00 \\ 1 @ \$11.00 \dots \$255.00 \\ 1 @ \$20.00 \dots \$255.00 \\ 14 @ $100 \dots \$255.00 \\ 14 @ $100 \dots $255.00 \\ 14 @ $100 \dots $250 \dots $20 \\ 14 @ $100 \dots $20 \ $20 \ $100 \ $20 \ $100 \ $100 \ $100 \ $100 \ $100 \ $100 \$
3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$50.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT	00 \$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 \$200.00 \$50.00\$759.00 \$1.00 per card	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$800.00 8 @\$50.00\$400.00 27 @ \$26.00\$702.00 111 @ \$4.00\$444.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT IDEAL PROFIT	\$5,198.00 MULTIPLE WINNERS 2 @\$250.00\$500.00 6 @\$200.00\$1200.00 1 @\$150.00\$150.00 7 @\$100.00\$700.00 1 @\$560.00\$56.00 3 @\$52.00\$156.00 5 @\$56.00\$56.00 5 @\$50.00\$250.00 17 @\$26.00\$442.00 5 @\$16.00\$80.00 25 @\$12.00\$300.00 16 @\$8.00\$128.00 99 @\$4.00\$396.00 \$4.00\$780.00 \$2.00 per card	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 5 @ \$50.00 \$250.00 4 @ \$12.00 \$250.00 290 @ \$1.00 \$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT IDEAL PROFIT	$\begin{array}{c} 00 \dots \$3,159.00 \\ \hline \text{MULTIPLE WINNERS} \\ 2 @ \$200.00 \dots \$400.00 \\ 1 @ \$174.00 \dots \$174.00 \\ 1 @ \$150.00 \dots \$105.00 \\ 1 @ \$150.00 \dots \$105.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$101.00 \dots \$101.00 \\ 6 @ \$100.00 \dots \$010.00 \\ 1 @ \$55.00 \dots \$55.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$50.00 \dots \$22.00 \\ 1 @ \$11.00 \dots \$250.00 \\ 1 @ \$11.00 \dots \$255.00 \\ 1 @ \$20.00 \dots \$255.00 \\ 14 @ $100 \dots \$255.00 \\ 14 @ $100 \dots $255.00 \\ 14 @ $100 \dots $250 \dots $20 \\ 14 @ $100 \dots $20 \ $20 \ $100 \ $20 \ $100 \ $100 \ $100 \ $100 \ $100 \ $100 \$
3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$100.00 \$400.00 8 @ \$250.00 \$400.00 8 @ \$25.00 \$200.00 8 @ \$25.00 \$200.00 75.97% payback Win Ratio: 1 in 79.0 4 sets per case 20 POSTINGS PAYS OUT IDEAL PROFIT FORM XD82 1,999 cards @ \$1 PAYS OUT 4 @ \$100.00 \$400.00 4 @ \$50.00 \$200.00 4 @ \$50.00 \$200.00 4 @ \$50.00 \$200.00 4 @ \$50.00 \$200.00 5 @ \$25.00 \$150.00	00\$3,159.00 MULTIPLE WINNERS 6 @\$200.00\$1200.00 10 @\$100.00\$1000.00 4 @\$50.00\$200.00 4 @\$50.00\$200.00 \$1.00 per card 00\$1,999.00 MULTIPLE WINNERS 4 @\$200.00\$800.00 6 @\$100.00\$600.00	2,599 cards @ \$2 PAYS OUT 8 @\$200.00\$1600.00 8 @\$100.00\$400.00 27 @\$26.00\$400.00 111 @ \$4.00\$472.00 118 @ \$4.00\$472.00 84.99% payback Win Ratio: 1 in 9.3 4 sets per case 51 POSTINGS PAYS OUT FORM XD83 3,200 cards @ \$2 PAYS OUT 4 @\$400.00\$1600.00 4 @\$100.00\$800.00 8 @\$100.00\$800.00 8 @\$100.00\$800.00 8 @\$100.00\$250.00	$\begin{array}{c} 00. \\ & $5,198.00\\ \hline \\ MULTIPLE WINNERS\\ 2 & $250.00$500.00\\ 6 & $200.00$120.00\\ 1 & $250.00$510.00\\ 7 & $150.00$150.00\\ 7 & $160.00$150.00\\ 1 & $60.00$56.00\\ 3 & $52.00$156.00\\ 3 & $522.00$156.00\\ 3 & $522.00$156.00\\ 5 & $50.00$250.00\\ 17 & $260.00$442.00\\ 5 & $6$10.00$80.00\\ 25 & $12.00$300.00\\ 16 & $8.00$128.00\\ 99 & $4.00$396.00\\ \hline \\ \hline \\ & $2.00 \ per \ card\\ .00. \\ & $780.00\\ \hline \\ & $4400.00$800.00\\ 2 & $300.00$800.00\\ 2 & $300.00$800.00\\ 2 & $2200.00$800.00\\ 2 & $2200.00$800.00\\ 2 & $2200.00$400.00\\ \hline \\ & $8.00$800.00\\ \hline \\ & $8.00$800.00\\ \hline \\ & $8.00$800.00\\ \hline \\ & $8.00.00$800.00\\ \hline \\ & $8.00.00$80$	3,159 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 5 @ \$100.00 \$250.00 4 @ \$12.00 \$250.00 290 @ \$1.00 \$250.00 290 @ \$1.00 \$290.00 70.85% payback Win Ratio: 1 in 9.7 4 sets per case 17 POSTINGS PAYS OUT DEAL PROFIT FORM XD84 2,559 cards @ \$1. PAYS OUT 8 @ \$100.00 \$800.00 4 @ \$50.00 \$200.00 6 @ \$25.00 \$150.00 5	$\begin{array}{c} 00 \dots \$3,159.00 \\ \hline \text{MULTIPLE WINNERS} \\ 2 @ \$200.00 \dots \$400.00 \\ 1 @ \$174.00 \dots \$174.00 \\ 1 @ \$174.00 \dots \$174.00 \\ 1 @ \$150.00 \dots \$150.00 \\ 1 @ \$150.00 \dots \$150.00 \\ 1 @ \$102.00 \dots \$102.00 \\ 1 @ \$50.00 \dots \$50.00 \\ 1 @ \$20.00 \dots \$20.00 \\ 1 @ \$20.00 \dots \$20.00 \\ 1 @ \$20.00 \dots \$20.00 \\ 1 @ \$100 \dots \$255.00 \\ 1 & @ \$2.00 \dots \$255.00 \\ \hline \begin{array}{c} & & & & & & & & & & & & & & & & & & &$